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QUESTION 1

View the Exhibit for the object interdependency diagram.
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The PRODUCTS table is used to create the PRODCAT_VW view. PRODCAT_VW is used in the GET_DATA
procedure. GET_DATA is called in the CHECK_DATA function.

A new column PROD_QTY is added to the PRODUCTS table. How does this impact the status of the dependent
objects?

A. All dependent objects remain valid.

B. Only the procedure and function become invalid and must be recompiled.

C. Only the view becomes invalid and gets automatically revalidated the next time it is used.

D. Only the procedure and function become invalid and get automatically revalidated the next time they are called.

Correct Answer: A

QUESTION 2

Which statements describe the capabilities of the DBMS_NETWORK_ACL_ADMIN package? (Choose all that apply.)
A. It can be used to allow the access privilege settings for users but not roles.

B. It can be used to allow the access privilege settings for users as well as roles.

C. It can be used to control the time interval for which the access privilege is available to a user.

D. It can be used to selectively restrict the access for each user in a database to different host computers.

E. It can be used to selectively restrict a user\\'s access to different applications in a specific host computer.

Correct Answer: BCD
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QUESTION 3

To control the execution of a server process when it is receiving bad packets from a potentially malicious client, you set
the EC_PROTOCOL_ERROR_FURTHER_ACTION initialization parameter as follows:

SQL> ALTER SYSTEM SET SEC_PROTOCOL_ERROR_FURTHER_ACTION = Drop.10;
What is the significance of this setting?
A. It terminates the client connection after 10 bad packets and the client cannot reconnect to the same instance.

B. It terminates the client connection after 10 bad packets but the client can still reconnect, and attempt the same
operation again.

C. It terminates the client connection 10 seconds after receiving a bad packet and the client cannot reconnect to the
same instance.

D. It terminates the client connection after receiving a bad packet and the client can reconnect to the same instance
after 10 minutes.

Correct Answer: B

QUESTION 4

The ADMIN_EMP table has columns EMPNO, ENAME, DEPTNO, and SAL. It has a materialized view EMP_MV with a
materialized log and an ENAMEJDX index on the ENAME column.

You need to perform an online table redefinition on the ADMIN_EMP table to move it from the TBS1 tablespace to the
TBS2 tablespace in the same schema.

What action is required for the dependent objects when you perform online redefinition on the table?
A. The materialized view should have a fast refresh performed after the online table redefinition is completed.
B. The materialized view should have a complete refresh performed after the online table redefinition is completed.

C. The materialized view, materialized log, and the index should be dropped and re- created after the online table
redefinition is complete.

D. The materialized view and materialized log should be dropped and all constraints disabled and re- created after the
online table redefinition is complete.

Correct Answer: B

QUESTION 5

Sales details are being stored on a daily basis in the SALES_2007 table. A large amount of data is added to the table
daily. To save disk space, you issued the following command:

ALTER TABLE sales_2007 COMPRESS FOR ALL OPERATIONS;
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What would be the outcome of this command?
A. It produces an error because data already exists in the table.
B. It produces an error because compression can be enabled at table creation only.

C. It compresses all data added or modified henceforth but the existing data in the table is not compressed
immediately.

D. It immediately compresses all existing data as well as new data, resulting from either fresh additions or modifications
to existing data.

Correct Answer: C
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